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(*) Instructions to candidates:
\_ l) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of scientific calculator is allowed.
4) Assume suitable data where ever required.
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domain i.e. 2 marks eachI
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Show with example the time
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representation of any signal
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with lable 22. l4l
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Q.4) Attempt oneany
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3 marks for Diagrq.m qnd, S marks for I point each inexplanation

2) Draw and exptain star and
2 marks for Diagram qnd, 2

Mesh topologr with diagram.
marks for explanation

1) What Is Looping Problem of a Bridge?
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#tr::i7Diasram o,nd, B marks for t point eq,ch tn

::#::iTn 
why do we need three types of addressing in

TCP/I theExplain IP layered model and of allthe s.layer

explanation
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brief.
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diCRC2l vision sender side 3 Marks
Receiver side 3Marks

corrections
1 isWhat the differen ce between forward errorversus transmission ?
7 mark eqch at.for least tn explanatio '/1.Iesexamp 6 points,

expected
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"X#ffi::re 
the controlled access methods? Explain with

2 mqrk each for 3 method,s, explanation.

1)Write
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4 marks forfloutchart and, 3 marks for explanation.2) Explain pure and_slotted uf o# y-... t. their throu ghput.3 marks each for o ;;i;;i irg"r"n"es in exptanation.

1) Draw
brief.

flow chart of CsMA/CA and explain its working in
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